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QUESTION 1

Which statement accurately describes how PIM sparse mode operates? 

A. RPs can become bottlenecks, since multicast traffic must always flow through the RP and down the shared tree to
get to the receivers. 

B. RPs switch each traffic flow to the shortest path tree when more than one receiver is present. 

C. If an RP fails and there is no backup RP, new sources that begin sending will not be discovered by the other PIM
routers in the network. 

D. If an RP fails and there is no backup RP, multicast traffic will cease flowing in the network. 

Correct Answer: C 

 

QUESTION 2

What is a correct design consideration of IPv6 MLD snooping? 

A. MLD snooping requires IGMP snooping to be implemented. 

B. MLD snooping conserves CPU by sharing IPv4 and IPv6 multicast topology. 

C. MLD snooping is used to filter all MLD queries. 

D. MLD snooping conserves bandwidth on switches. 

Correct Answer: D 

 

QUESTION 3

Four routers running IS-IS are connected to a single Ethernet link. Then, a fifth router is connected, which has a priority
higher than any of the other routers connected to the network. What will happen? 

A. The new router will become the DIS and cause a temporary disruption in traffic through the link. 

B. The new router will become the DIS without causing a temporary disruption in traffic through the link. 

C. The new router will not be elected DIS unless the current DIS fails. 

D. The new router will not be elected DIS unless it has the lowest NET ID. 

Correct Answer: B 

 

QUESTION 4

Which technology provides for the best use of resources to provide end-to-end Layer 2 connectivity? 
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A. MSTP 

B. Multichassis EtherChannel 

C. PAgP 

D. LACP 

Correct Answer: B 

 

 

QUESTION 5

A company decided to replace IEEE 802.1s on the campus and you must propose a Layer 2 open standard technology
that is highly scalable, ensures a resilient loop-free switched domain, and allows for utilizing all links in the Layer 2
domain. 

Which Layer 2 technology meets these requirements? 

A. TRILL 

B. VxLAN 

C. LACP 

D. FabricPath 

E. MST 

Correct Answer: A 
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